202 08E LR SR =XEEE FREFTE - X6
1% R ES03 - 57 BiE] £S5 : 6/

Tl En [renl B [ren] oo | [Eleles penlem renl oo 0| [E el Es =
HES 1]+ 1]k

2 | = 2| B 2 | &

3 [+ 3 | #m 3 [ &

AEE K HE

5 [ A 5 [ 1 HE

6 [ X 6 [ & 68

AEx AE AE

8 | & I 8 [ X

9| & 9| H 9 | &

0]+ 10| A 1 10 | &

HIE 11 [ & 1 1] %

12| A 12 [ ok 1 e

13| & 13| & 1 13] 8

14 ] oK ME 1 14| A

15 | A& 15] £ 1 15| &

16| & 16| B 1 16 | K

7] + 17] A 1 17] &

BE 2 18] & 1 FREE 18] &

19] A 15 19 [ K 1 FREE 19] +

20 | X 20 | & 1 PR 20| B

21| K A 21| A

22| K 22| + 22| X 1
HE 15 HIE 23 [ ok 1
24| + 3 241 A 24 | & 1
25| 8 25 | X 25 | & 1
26| A 26 | 7K 26| £ 1
21| X 21| K 27] 8 1
28 | 7k 28| & 28| A 1
29| % 29] + 29 | X 1
30 [ & 30| B 30 [ 7K 1

S
ETiEl S S B

P H i B 8 8 FHkER 12 0 R = 1
REREH 3 5 RBEARER 7 0 CNERON=3E! L

FREHEETS] 1.8 16 FREPEETE] 2.0 #DIV/0! T HEBERTY

HREEBEETY, 28 2.3 KREEDBEES, 47 #DIV/0! KR EBERT Y
10R 51’@ %:%E\ ##58%15\ 11A EJF@ %r’ﬁﬁ ##EE%IE 12A a+@
H|®E B | 2| &R [rEE] BHE |[HRER | ®| &8 |#wER
1] 1|A 1] K

2 [+ 2 | & 2 [ &

IE S E

418 HES 4]+

5 [ & 5 [ & HE

6 | 6|+ BHAKER 6|58

7K 718 BHAKRS] 71X

8 | & 81A 8 [ &

9 [+ 9 | X 9 [ &

0] R 10 | 7k 2EAEFIRIT 10] =

11] A S ES s I ES

12| & HE 2T [ 12] 8

13| 7 13| £ 2EAEFIRIT 131 A

14| K 14] 8 | | 1] x




15{&] 25 15[ A 15 |
16 | + 16 [ & 16 [ A&
17| B 17| & 17| &
18| A8 18 | & 1 18| +
19 | X 19] % 1 19] 8
20 | 7 20] + 1 20| A
21| & 21| 8 1 21| X
2| % 22| A 1 22 | 7
23] + 23| % 1 23| &
24| B 24 | ok 1 24| %
A 1 25 [ & 1 25| +
26 | & B 1 AEE 26| A
27 | 21| + 1 27| A
28 | & 28| & 1 28 | X
29| & 29| A 1 BEREE 29 | K
30 + 1R 30 | X 1 HAEE 30 | &
31| H 31| %

F B¢k 8 0 FHkER 14 0 FHED
REFEY 5 0 RETREN 6 0 RETREH
SRR RRSEE T E) EDIV! SRR ST #BIV70T SR
REEBIWES 30 #DIV/0i PRE &SRS 55 #DIV/0l PR & B 5




, SAOHS : TEH) CEEBERN (h) oMTEEREATECE  [RER) CHRELAMAL
B Cr TREEE] CRERITECRALAOEERRT. ASEFENTS L,
EST N 7R =T ESES N 8 BiE EST3
B [En] T STl En lreal Enlaen "o n | [ET=l=s real=r [nen
T~ = e 1
2 = prpe——— 1Al 3
R B s 3
4 H 4 1 K 3
EAs 5 A e AES BE
CEwN 5 [ HBE s 1= 3
7| K 7|t 3
8 | K 8| H 1
5 = RER 1
10] + 10| X 3
11| # 11| 7« 3
121 B 12| K 3
13| & 13| & 1
14 | 141 + 1
15| K 151 H 1
16| & 16| B 3
171 + B REER 171 X 3
181 H B ER 18| 7« 3
191 B 19| K 1
20| X 20| & 2.5
21K RER S e
22| % 22| H 1
23| % 231 B 1.5
24| + 24 | X 1
251 H 25| 7« 2.5
26| B #=E 26 | & 1
27 & e 7= 1
28 | K T I 1
srzz| [+ e e E 1
30 & 30| A 1.5
31| = 31| & 1
i e it T HE
3 0 FHAER 6 0 FHAKREHR 6
] 0 WEFEH 5 o RERER B
3 #DIV/0! FHEERERETY 2.2 #DIV/0! T HEFEEFY 2.7 #[
5 #DIV/0! KB EFEEFY 2.6 #DIV/0! NENEE RS2 3.0 #l
ST — 15 E I p— 2 5 5 Ez
T pre A T pre a® [ e
HrEE T+ T~
2|1 H 2 | K
3 1A 31K
X S
5 1 7 51 =
5 |~ AE
1= e 7178
5 |t 5 | &
91 H 9 | &
10| # 10| K
111 X 11| &
12| 12| +
13| & 131 H
14| & 14| A




5] + e 15| & 1
16| B 3 16 | 7k 1
171 B 1.5 171 K 1
18| & 18| & 1
19 ] 25 19| £ 1
20 | K 201 H 1
21| & | 25 211 A 1
22| + 3 22| X 1
23| H 23| & 1
24| B 1.5 24 | K 1
25| X 25| &
26 | & 2.5 26| £
27 | K 271 H
28| & 25 281 A
29| £ 3
30| H
31| B
[E] ESE B =5 e
0 0 FHAER 8 0 FHAEH 13
i 6 RHTRED 6 ) REHTET 3
3 #DIV/0! FHEBEREFS 2.4 #DIV/0! FHEDREFS 2.1 #l
0 #DIV/0! R ESN R FY 2.7 #DIV/0! REEERE 3.0 #l




M1l Z#zAN93

BERK% /NMNUETF
. 9 A =TEl ESES N
KiLER R R T R ] e
1|k
2 [«
3|2
4|+
51 H
6| A
7| X
8 | &
9 | &
10| &
e TARS
12| 8 TARS
13| A KAk
14| &
15| 7
16 | K
17| &
18| £
phzt 9] B
20 | &%
21| X 1
22 | & 1
23| K 1
24 | & 1
25 + 1
mheef| [26] A 1
kgt 21| A 1
kgt 28| X 1 T
29 | 7k 1 T
30 | & 1 T
ES HE ES |
0 FHiREHR 14 0
0 NEr N 1= 4 0
JIV/0! FHIEEEETEY 2.4 #DIV/0!
JIV/0! R RN R FY 5.0 #DIV/0!
_ 38 HE ETT L
mERR B | el wm [rea]| & [rea FEEA FAKER
1| X ERE, HiE
2| K&
L 124
HEBAR 4| &
5 | - E
6| B
71 A 8
s [«
9 [ thEREH
0] & A =@
11| &
e 63
13| H
14| A ET




5] %
16 | 7k 5
17 &
8=
9]+ HEH B
20| 8 B
wrxza| |21 ®
sarza| |22]| X 187
23| 7k BT
warza| |22 & ET
wrxza| [25] =
% | - 13
271 H
FER e
29| X
30 | &
31| &
0 FHEEH 15 0
§ RETRE § §
JI1V/0! FHEBEFREFS 2.5 #DIV/0!
J1V/0! ENENE SRS 3.0 #DIV/0!




